This constraints diagram gives us a thrust loading of 0.3 and a wing

loading of 1500.

In our model we have used a max. take off weight of 1500kg and a wing area

of 10m2 (see diagram) which matches this wing loading.

Using the thrust loading we get a thrust of 4414N.

A rough calculation:

Thrust
= power * (density / density @ s.l )* eff. / V

Using conditions at sea level at the stall speed of 55kts (28.3m/s) and a

propellor efficiency of 0.85 we get a power of requirement of 198hp (147KW).

What do you think about these values? Are they similar to yours?  

Are we having fun yet?

Chris and co.

